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Questions 1 to 10 carry 1 mark each, Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice and shade your answer (1, 2, 3 or 4) on the Optical Answer Sheet.
{20 marks)

1 Which one of the following is five million, one hundred and twanty thousand in

numerals?
(1) 5000120
(2) 5100200

(3) 5102000
(4) 5120000

2 wWhich one of the following is the same as 30 kg 70 g?

(1) 30709
(2) 3700g
(3) 300709
(4) 30700g

3 What is the length of the pencil?

(1) 15¢cm
{2) 85cm
3y 95cm
(4} 105¢cm
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4 Which one of the foliowing would most likely be the mass of a mpbile phone?

(1) 16g

(2) 180g
(3) 16kg
(4) 16kg

5 Four letters are shown on a square grid.

How many of the letter(s) has/ have a line of symmetry?

(1)
2
(3)
(4)

B W N L

1
6 Express 35 as a decimal,

(1) 3.0
(2) 3.1
(3) 3.12
4 35

NCPS_P6_Prelim_Paper 1_Booklst A_2021 2
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Simplify 5w + 10 — 4w~ 8
(1) w+2
(2) w+18
(3) 9w+2
(4) 9w+18
Arrange these distances from the longest o the shortest.
3
2km305m 2.35 km 2—5- km
Longest Shortest
(1) 2km305m , 235km : zg-km
@  235km zg-km . 2km305m
(3) 2-2- km . 2km305m , 235km
(4) z-g- km , 235km , 2km305m
The figure is formed by a square, a semi-circle and a quartercirele. Find the area of
22
the shaded parts. Take = = X
14 cm
(1) 33cm?
(2) 385cm?
(3) 1155cm?
(4) 154 cm?
NCPS_P8_Pralim_Paper 1_Booklet A_2021 3
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10 ina shop, the average number of T-shirts sold in 3 months was 28. Int the first month,
13 T-shirts were soid. The difference between the number of T-shirts sold in the
second month and the number of T-shirts sold in the third month is the smallest
possible. The number of T-shirts sold in the third month was fewer than the number of
T-shirts sold in the second month. How many T-shirts were sold in the third month?
M 7
2) 14
{3) 35
{4 70

11 Thefigure below shows 3 trapezium ABCD. EDC is a straight line and AB // DC,
£DAC = 24° and ZADE = 70°. Find /BAC.

- B
24°
70,
E D c
(1) 24°
{2) 35°
(3) 4e°
(4) 550
;! 1
12 - i of a bar is painted biue and > of the remaining bar is painted vellaw. What fraction
of the bar is painted?
1
M 3
3
(2} 3
5
@ 3
3
@ .
NCPS_P8_Prelim_Paper 1_Booidet A_2021 4
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13

14

Gladys had the following types of coins in her purse.

Types of coins | Number of coins
5¢ 2
10¢ 1
20¢ :
504 1
$1 1

She took out 3 coins from her purse and placed them into a donation ca

of the following amounts could not be the amount taken out of her purse?

(1
(2)
3
(4)

There are some red and blue markers in a pencil case. The table below shows the
number of permanent and non-permanent markers.

Based on the information given in the table, which one of the following statements is

correct?
(1)
(2}
markers.
(3)
4

$1.25
$0.90
$0.75
$0.55

n. Which ong

Type Permanent Non-permanent
Red Markers 9 16
Blue Markers 8 32

There are 17 permanent biue markers.

The number of permanent red markers is 36% of the total number of red

‘BP-800

The total number of blue markers is fewer than the total number of red markers.

The ratio of the number of non-permanent biue markers to the number of

permanent blue markers is 1:4.

NCPS_P6_Prelim_Paper 1_Booklet A_2021
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15  Atable with 4 columns is filled with numbers in 3 certain pattemn. The first 4 rows of
the table are shown below.
Column A Column B ColumnC Column D
Row 1 1 2 3 4
Row 2 8 7 6 5
Row 3 9 10 11 12
Row 4 16 15 14 13
In which column will number 123 appear?
(1) Column A
(2) ColumnB
{3) ColumncC
(4) ColumnD
End of Paper 1 Booklet A
NCPS_PS5_Prelim_Paper 1_Booklet A_2021 B
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. For

questions which require units, give your answers in the units stated.

(5 marks)

BP-804

Do not write
in this space

16 Find the value of 1065 —98

Ans:

17  Find the value of 3 + 7. Give your answer correct to 2 decimal places.

Ans:

18  Write down all the common multiples of 6 and 8 that are smaller than 50.

Ans:

NCPS_P8_Prelim_Paper 1_Booklat 8_2021 1
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Bk+8 Do not write
19 What is the value of 5 when k = 97 this space

Ans:

3
20 At a fruit stall, the price of an orange is 3 of the price of a mango. The price of

an apple is haif the price of an orange. What is the ratio of the price of an
orange 1o the price of a mango to the price of an apple?

Ans:

NCPS_P8_Prefim_Paper 1_Booklet B_2021 2
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www.testpapersfree.com




Questions 21 to 30 carry 2 marks each. Show your working clearly and write your
answaers in the spaces provided. For questions which require units, give your answers
in the units stated. (20 marks)

21  Meiling is 45 kg. She is 400 g heavier than her sister. What is her sister's
mass in kg?

Ans: kg

22  The table shows the charges of a photograph printing shop.

For the first two 5R photographs $3 each

Subsequent 5R photographs 52 each

Janet printed some SR photographs. She paid a total of $30 for the 5R
photographs. How many 5R photographs did she print?

Ans:

23 A wire measuring 24 m long is bent to forrn two triangles as shown, The
tength used to make the big triangle is twice the tength used to make the
small tiangle. What is the length of the wire used to make the big triangle?

Ans: m

BP~806

Do not write
in this spacea
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Use the table and bar graph below to answer questions 24 and 25.

Muthu received the same amount of allowance each month from January to

April. The table below shows the amount of money Muthu spent fror

to April.

Months Amount of money spent
January $80
February 346

March $38

April $72

The amount of money saved is represented by the bar graph below,|

for the amaunt of money saved in Apri! has not been drawn.

n January

The bar

January §

February

March

April

4 _h_...‘i...- b o el e o e o
]

] _......,f.... I RN B I A A

24  Draw the bar for the amount of money saved in April In the bar graph

10

20 30 40 &0
Amount of money saved ($)

above.

25  What percentage of his total allowance received fro

Muthu spend?

Ans:

m Janvary {o Apnl did

%

NCP8_PB_Preim_Paper 1_Booklst B_2021 4
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26  The figure shows 2 identical circles in a rectangle. A and B are centres of the |Donotwrite
circles. What fraction of the figure is shaded? Give your answer in the
simplest form.

in this space

Ans:

27 ‘The figure below is made up of 5 identical rectangles, with no overlap.
Each rectangle measures 10 cm by 4 cm. What is the length of line PQ?

10 cm

4 cm

) VR

LI A
2

Ans: o

NCPS_P6_Prelim_Paper 1_Booklet B_2021 5
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Do not write
i this space

28  Inthefigure, O is the centre of a circle and ABC is a triangle. #/BCA = 65°,
Find #BAC.
Ans: °
29  The table below shows the number of fans ownad by each housseheld In a
block. Part of the table is coverad by ink blot. There are 58 househo s who
owned at least 2 fans.
| Number of fans 0 1 2 3 4
Number of _
households S 9 8
£ach statement below is either true, false or not possible to tell. For each
statement, put a tick (v} in the correct column.
Not
Statement True Faise | possible
to tell
There were 72 households in the block.
9 households owned at least 1 fan.
The number of households who owned
2 fans was equal to the number of
households who owned 3 fans.
NCPS_P8_Prelim_Paper 1_Booklet B_2021 8
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3 Do not write
30 Jasmine had a box of red and white beads. 2 of the total number of beads in this space

5
were red. Jasmine used 3 of the number of red beads and some white

1
heads to make a neckiace. She used 2 of the total number of beads to make

the necklace. What fraction of the number of white beads did she use to make

the necklace?

End of Paper 1 Booklet B
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Questions 1 to § cary 2 marks each. Show your working clearly and write your [Po not wiite
answers in the spaces provided. For questions which require units, give your answers n this space
in the units stated. (10 marks)

1 A jug contained 2 litres of lime juice. Freya poured equal amount of fime juice

3
into several glasses. She poured s fitres of lime juice into each glass. What is
the most number of glasses of lime juice she could have?

Ans.

2 The number of visitors to a gailery was 9000 in February. This was a 20%
increase from the number of visitors in January. How many visitors were there

in January?

Ans:

NCPS_P8_Prelim_Paper 2_2021 ) 1
Score:
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3 Arectangular tank of height 2 m has a square base of side 80 cm. What is the

1
volume of water in the tank when it is 2 - filled with water?

Ans;,

BP-819

Do not write
n ihis spece

4 The square grid shows the positions of A,B,C,D,E FandG.

A
e
G b
e N
C
' .
E
o T
{a)  Susan walked directly from point F to point C in a straight line.
In which direction did she walk?

{b)  Alistood at one of the points facing point G, After he turned 45¢
clockwise, he faced point D. Which point was Ali at?

Ans: (a)

(b) Point

NCPS_P8_Prelim_Papar 2_2021 2

Score:

www.testpapersfree.com




BP-816

5 The table below shows the number of electronic gadgets sold by Mr Tan in four po notwrite
months. n this space
Months Number of electronic gadgets sold
August 166
September 132
October 148
November ?
in order for Mr Tan 1o qualify for the yearly ‘Best Salesman Award', he has to
sell an average of 170 electronic gadgets for 3 out of the 4 months. What is the
least number of electronic gadgets that he has to sell in November in order to
qualify for that award?
]
Ang:
NCPS._P6_Prelim_Papsr 2_2021 3
Score:
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For questions 6 to 17, show your working clearly and write your answers in the Spaces | Do not write
provided. The number of marks available is shown in the bracket] ] atthe end of each |in this space
question or parl—question. (45 marks)

6  The prices of two sizes of candles at a shop are shown below,

Small candles $3 each

Large candies $5 each

Sarah bought an equal number of smail candles and large candles. She spent
$120 sltogether. How many candles did she buy altogsther?

Ans: [3]

7 When Taps X and Y are turned on at the same time, they can fill up a tank
completely in 8 minutes. Tap X alone will take 10 minutes to il up the tank
completely. How long will it take for Tap Y alone to fill up the tank completely?

Ans: [3]

NCPS_P8_Prelim_Paper 2_2021 4
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8 In the figure below, ABCD and CEFG are rhombuses. ADH and ECD are
straight lines and BC = CE. £CGD =85°. ZGDH = 47°.
Find ZABE.

A

{31

NCPS_P6_Prelim_Paper 2_2021 5
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9

The line graph shows the number of members in a club at the end of each year
from 2016 fo 2020. The number of members is not shown on the scale.

Number of

rmembers

(@  In which year did the number of members increase the most compared
to the previous year?

{b) From 2016 to 2020, what was the percentage increase in the nymber of

e

. o

——

yrd
i
y
4
V4
rd
i
.
7
rd
o]
o~
.
—— v
2018 2017 2018 209 2020

members?

Ans: (a)

Y

{b)

[2]

NCPS_P8_Prelim_Paper 2_2021
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4
10 The number of workers in Factory A was 7 of the number of workers in

Factory B. When 36 workers transferred from Factory B to Factory A, both
factories had the same number of workers.

{(a)  How many more workers were in Factory B than in Factory A at first?

(b)  How many workers were there altogether?

Ans: (a) 2]

(b) [1]

BP-820

Do not write
in this space
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11

Do nat writs
in this space

ELECTRICAL APPLIANCE SALE!

1% itern at 15%
discount

2™ itemn at 20%
discount

Microwave Blender
$145 $75
Price of 2% appliance should be equal to or
iower than the price of 1%t appliance

Mrs Rahman bought two different slectrical appliances. The total discount she
received for the two items was $26.05. How much did she spend?

Ans: (3]

NCPS_P6_Pralim_Paper 2_2021 8
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12 The figure below shows a Triangle ABC drawn on a square grid. Do not wiite
in this space

1em

o

! i i
.____.;:ﬁu__,,.r_. oo

e e A AP e b SR b

4
AL
el

1 L — o i L __,2 :,.,.-‘,..,A: —

{(a) Find the area of Triangle ABC.

(b) Drawan isosceles Triangle XYZ on the square grid below.
The ratio of the area of isosceles Triangle XYZ to the area of the abbve

Triangle ABC is 3: 2. [3]

1cm
I .
1ocm I ?
-
Ans: (a) {11
NCPS_P6_Prelim_Paper 2201 g
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13 Sam received $0.80 more pocket money than John every day. They each spent | Do not write
$1.80 per day and saved the rest of their pocket money. After many days, John |in this space
saved $74.40 and Sam saved $130.20.

{a} How many days did John take to save $74.407

(b)  How much pocket money did both boys receive altogether each day?

Ans: (a) [2)
(b) {2

NCPS_PB_Prelim_Paper 2_2021 10
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Do nol write
14 Alice has a triangular piece of paper ABC. She folded it along the lines FG and in this space
DG as shown below. BGC is a straight iine. BF = BG.
(a) Find Zm.
by Find £n
{
A
Before folding After folding
Ans: (2) [2}
b) __ ) (2}
NCPS_P8_Prelim_Paper 2_2021 1
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’

, 5 . Do ret virite
15 Celina spent 5 of her money on 36 tupcakes and 32 muffins. The price of one {in this space
1
cupcake was thrice as much as the price of one muffin. She then used E of

her money to buy more cupcakes. She spent a total of $187.50 on alithe
cupcakes. How much did she spend on the muffing?

Ans: _ (5]

NCPS_P6_Prelim_Papar 2_2021 12
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16 The figure is formed by 4 identical quarier circles. PQis 568 cm.

10 om| 8 cm

{a)  Find the radius of the quarter circle.

(b) Find the perimeter of the figure.

ELP

58 cm

(¢) A circular wheel is formed by the 4 identical quarter circles. The wheel
turned along the straight line WZ and reached the wall as shown below.
The distance between point X and point Z is 615.6 cm. How many tums

did the wheel make?

(Take = = 3.14)

BP-826

Do not write
in this space

f -\\v 277N wa
' {
LY F 4
b 7’
hid X 6156 cm 4
Ans: (a) Ry
{b) (2
(c) ¥4
NCPS,_PB_Prefim_Paper2_2021 13
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17 Megan stacked six 1-cm cubes together to form the solid below. Do not virite
in this space

Top View

Front\u”zew’ T ‘ LT \Side\ﬁew

(8) Draw the fop view of the solid in the grid below. [1]
Drawing of the top view is as seen from the front view only.

Top View

(b}  Megan painted the whole solid, including the base, red. How many of the
6 cubes had exactly four of their faces painted red?

Ans: (b) [11

NCPS_PB_Prelim_Paper 2_2021 14
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Do not writa

{c} Megan rearranged the cubes to form the following figure. She wanted to in this space
build a set of steps with more 1-cm cubes. The figures below show how
she built the steps.

4

P ATy S 4 X ‘
ERAREN) ALy
EEEEEN

If Megan continued building the steps in this way, what would be the
height of the set of steps that had 1 68 cubes?

'
|

Ans: {c} 13

End of Paper
NCPS_PS_Prelim_Paper 2_2021 15
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Q24)
| T
January § i ] L
il
February D e s AN RN
March § ?_!;
Apil O L | | ._'E_‘ | ,_-“_.5;_:;:..3:;
s 1 111 AN EEEE P 3
0 78%5 20 7 30 40 50 "% 60 y T
Amount of money$) X352
Q25) 59% ’
Q%6) %
Q27) 30cm
Q28) 25°
Q29) True
False
Not possible to tell
G30) 13
PAPER 2
Ql) 2+38=5
S
Q2) 9000-+80= 112.5
112.5x 100 =11250
9000 =120 =75
75 x 100 = 7500
Q3) 80 x 80 = 6400
6400 x 200 x ¥ = 320000
0.32m?
Q4) a) Northeast
b) PointE
Q5) 170x3= 510
510 - 156 ~ 148 = 206
Q6) 3+5=8
120+8=15
15x2=30
Q7) 15minutes

Pg2

www.testpapersfree.com

BP-832



Q8)

£ADC=>180-65-47=68
£BAD => 180 - 68 = 112
£DCG => 180 - 65 - 65 =50

ZBCE => 1802-68 _cg

£ABE =>56 + 68 = 124°

Q9)

a) 2019
b) 240%

Q10)

a) 14-11=3
36+3=12
12x6 =72

by 12x22 =264

Q11)

$122.95

Q12)

a} %ex4 x6=12cm?

AN
N,

%

b

Q13)

a) 62
b) $6.90

Q14)

a) 105°
b) 64°

Q15)

140 +5=28
28x3=84
3u=28¢

28 +36 =64
187.5+50=375
3.75x3=1.25
1.25%32=40
$40

Q16)

a) 19cm
b) 219.32cm
c) 5cm

Pg3
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Q17) 0
a) Top View
S
)1
c) 7cm

Pg4
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